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Important Instructions

L. All the questions are multiple-choice type anc
the questions.

2. This Question Booklet contains 200 questions
comprising the following three parts:

Part-1 : English (50 Ques.)

Part-2 : General Knowledge (50 Ques.)

Part-3 : Mathematics/Intelligence Test (75+25 Ques.)

3. Candidate should indicate his Name, correct Roll Number,
Question Booklet No., Exam Centre Code. Question Booklet
Code and Class on the OMR Answer-Sheet, otherwise the
Answer-Sheet will not be evaluated and the candidate will be
solely responsible for it.

4. Each question has four alternative answers. The candidate
has to darken only one circle/bubble on the Answer-Sheet
using blackball-point pen mdlcatmg the correct answer as
shown. If more than one answer' option is found darkened,
then the question will be treated wrong and will not be
evaluated.

Example: @ QO O O

5. Rough Work is to be done in the space provided in the
question Booklet only.

6. Use of white fluid or blade for correction on the Answer-
Sheet is not permissible.

7. Use of Electronic Calculator and Mobile, etc.. is not
permissible.

8. After completion of examination, you are allowed to take
away your Question Booklet.

9. There is no negative marking,

DO NOT OPEN THE SEAL OF THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO




ENGLISH

Directions for Q1 to Q20 : Fill in the blanks.
Ql. “veemmenean waters run deep:

Q2. When the accident took place, suddenly one
of the wheels came --------—— :

(A) Out

(B) off

(C) Through

(D) Down

Q3. e Andamans are a group of islands
in the Bay of Bengal.
(A) The
(B) A
{C) On
(D) An

Q4. | will go myself. Myself is ~---=-- pronoun.
(A) Emphatic
(B) Reflexive
{C) Normal pronoun
(D) None of these

Q5. We always like boys -------- speak the truth.
(A) Which -

{B) Who

{

{D) None of these

Q6. Do the same -----=-=nnx | do.
(A) As
{B) Which
{C) When
{D) None of these

Q7. He is the very man -—------- we want,

(A) Which

(8) Whom

(C) As

(D) It
Q8. Hari is ~=----- than Ram.
(A} Junior
(B) Senior
(C) Shorter
(D) Inferior

3)

Q9. Being Stepfather, he showed ---------—-
concerned for his son.

(A) A little

(B) The little

(C) Little
(D) None of these

Q10. The dog is jumping ----------- the table.
(A) On
(B) Upon
(C) At
(D) None of these

Q11. The river flows ------- the bridge.
{A) Under
(B) Within
(C) at
(D) None of these

Q12. He is married -------—-- my cousin.
(A)With
(B} To
{C) Of
(D) None of these

Q13. We should rely ----- our own efforts.
(A) To
(B) At
(C) With
(D) On

Q14. l insisted -----------—- going.
(A) For
(B) To
(C) On
(D) With

Q15. He is vain -------- his attainments.
(A) To
(B) For
(C) From
(D) Of

Q16. | often find him absorbed---------- thought.
(A) In
(B) From
(C) With
(D) At
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Q17. In this city there is no Library to ----=--=----
(A) Speak out
(B) Speak of
(C) Speak in
(D) None of these

Q18. Don't put all your -------- in one basket.
(A) Cash
(B) Clothes
(C) Eges
(D) Toys

Q19. We will cross the bridge when we --------—-to
it.

(A) Jump

(B) Drown

(C) Come

(D) None of these

Q20. A penny saved is a penny -----=-====--==-ex--
(A) Lost
(B) Spoiled
(C) Wasted
(D) Earned

Directions for Q21 to Q25: Read the passage
carefully and answer the question the follows.
The beginning of this fun filled season with the
sun hidden behind the grey clouds brings cheer to
many of us waiting eagerly to splash in the rains.
Of course, not everything about rain s
glamourous. Especially when you think about
endless traffic jams, the bad roads dotted with
potholes, uncleared garbage and the spate of
water borne diseases. Also, viral infections like
cold and cough make their presence felt.

Most infectious diseases prevalent in the rainy
season can be prevented by simply washing our
hands regularly. Scrubbing hands regularly with
water and soap can prevent us from contacting
respiratory and diarrheal diseases.

Kids have a lower level of immunity and hence
hand washing becomes a crucial part of their
lifestyle. When playing especially during monsoon
season kids come into contact with germs and
can unknowingly become infected simply by
touching their nose, eyes or mouth. The Food and
Drug Administration states that the human

(4)

influenza virus can survive on surfaces for upto
eight hours, making people susceptible to
catching it each time they touch the infected
surface. Hence repeated hand washing is
required. To make the best of the rainy season,
we should follow some simple guidelines. First of
all, if we decide to get wet in rains, we should
change into a dry set of clothes at the earliest.
Also, we should keep raw food items at bay and
wash vegetables and fruits thoroughly before
use. Moreover, strict kitchen hygiene should be
maintained in order to enjoy one of the most
beautiful seasons of the year. Also, in order to
have trouble free rainy season home made fresh
food should be given preference over the fast
food sold in the market.

(A) Splash

(B) Have potholed roads
(C) Water borne diseases
(D) Endless traffic jams

Q22. After getting wet in rains, we should put on
dry clothes ---------- 3

(A) As late as possible

(B) Whenever we like to

(C) When we fall sick

(D) As early as possible

Q23.Besides maintaining kitchen hygiene, we
should ---=-+------------ 50 as to keep us disease free
in the rainy season.

(A) Avoid raw fruits

(B) Enjoy raw fruits

(C) Avoid vegetables

(D) Consume more fruits and vegetables

Q24. The passage suggests that small children
should wash their hands -------- in the rainy
season since they have lower immunity.

(A) Frequently :

(B) Rarely

(C) After every meal

(D) Before every meal
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Q25. The word in the passage which means the
same as ‘Prone and vulnerable’ is -------

(A} Dotted

(B) Hygiene

{C) Susceptible

(D) Influenza

Directions for Q26 to Q32: Select the Meaning of
the given Word/Phrase.

Q26. A fleet —
(A) A collection of people
(B) A collection of soldiers
(C) A collection of cars
(D) A collection of ships or vessels

Q27. Omniscient -
(A) All powerful
(B) Present everywhere
(C) Knowing everything
(D) All of these

Q28. Precarious ~
(A) Preventive
(B) Dangerous
(C) Lazy
(D) None of these

Q29. “A show-stopper” —
(A) Someone who stops the show
(B) Someone who organizes the show
(C) Extremely good performance
(D) A fashionable person

Q30. “The gift of the gab” -~
(A) Ability to speak easily and confidently
(B) Ability to spoil something
(C) Ability to sell things
(D) Gift from a sacred institution

Q31. “Give the benefit of doubt” —
(A) To be partial to someone
(B) To be judgmental
(C) Regard someone as innocent until proven
otherwise
(D) Say something exactly right.

(5)

Q32. “Cry over spilt milk” —
(A) Complaining about a loss in the past
(B) Too much curious about something
(C) to do something to save money
(D) Dealing with an emergency

Directions for Q33 to Q34: Select the One Word
Substitute.

Q33. One who feeds on human flesh.
(A) Wild
{B) Unsocial
{C) Uncivilized
(D) Cannibal

Q34. A room or building for sick children in a
boarding school.

(A) Hostel

(B) Sanatorium

(C) Library

(D) None of these

Directions for Q35 to Q39 : Select the Opposite
of the given Word.

Q35. Laconic -
(A) Voluble
(B) Jealous
(C) Exhausted
(D) Timid

Q36. Inert —
(A) Active
(B} Lazy
(C) Strong
(D) Resolute

Q37. Reluctant —
{A) Optimistic
(B) unwilling
(C) Enthusiastic
(D) Excited

Q38. Adore —
(A) Discuss
(B) Check
(C) Benefit
(D) Condemn
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Q39. Candid —
{(A) Blunt
(B) Gaurded
{C) Sincere

{D) Unconventional

Directions for Q40 to Q44 : Select the Synonym

of the given Word.

Q40. Allegiance —
{A) Servility
(B) Obedience
(C) Loyalty
(D) Passivity

Q41. Pessimistic —
(A) Indifferent
(B) Ascetic
(C) Unsettle
(D) Not hopeful

Q42. Benediction —
(A) Good wishes
(B) Blessings
(C) Punishment
(D) Appreciation

Q43. Pragmatic —
(A) Practical
(B) Playful
{C) Casual
(D) Clever

Q44. Verdict ~
(A) Prediction
(B) Voice
{C) Outcome
(D) Judgment

Directions for Q45 to Q50: Correct the Underline

portion.

Q45. | went to the shop to buy some stationeries.

(A) Stationery

(B) Stationary

(C) Stationarics
(D) None of these

Q46. Had she been hungry, she would have eaten
whole lot of it.

{A) Uniess she had been hungry -

(B) However, she had been hungry

(C) As if she had been hungry

(D) noimprovement

Q47. The names of the defaulters have been cut
off.

(A) Cut out

(B) Struck out

(C) Struck off

(D) No improvement

Q48. The meeting has been put off to next Friday.
(A) Puton
(B) Putout
{C)} Putfor
(D) Noimprovement

Q49. 1 have been waiting here for the last two
hours.

(A) From

{(B) Since

(C) BY

(D) No improvement

Q50. We ought to stand for what is right.
(A) Stand at
(B) Stand on
(C) Stand up
(D) No improvement
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51.

52.

53.

54.

55.

56.

GENERAL KNOWLEDGE

When was Bharat Drone Mahotsav 2022
celebrated —

(A) May 27

(B) Apr 27

(C) June 27

(D) Apr 17

Which country has adopted Bitcoin as an
official currency ?

(A) England

(B) France

(C) Japan

(D) Central African Republic

Who is the Cabinet Minister for Civil
Aviation ?

(A) Ramchandra Prasad Singh

(B) Kiren Rijiju

(C) Jyotiraditya Scindia

(D) Giriraj Singh

Who is the Chief Justice of India ?
(A) S K Kaul

(B) S A Nazeer

(C) R Bindal

(D) DY Chandrachud

Vasco-da-Gama reached the port of
in 1498.

{(A) Calicut

(B) Daman

(C) Salsette

(D) Bombay

What is the popular name of Dadabhai
Naoroji ?

(A) Jawan

(B) Sparrow

(C) Babuiji

(D) Grand Old man

(7)

51. WA I WEiead 2022 Fa H1A1 T -
(A)27 W8

(B) 27 a1

(C) 275H

(D) 17 38€

52. o 2u1 3 feremnte =t snfiries g3 % w9
YT B2

(A) §fE

(B) i€

(C) ST

(D) T SThYERT TURST

53. ATk IgEEA F Hare Hft A &
(A) T ST fiE

(B) foror ey,

(C) safaufees féfemn

(D) firfr féig

54. ST % WA ATaTefier B 87
(A) T F HA

(B) T8 TSR

(C) ¥ foige

(D) < 1€ <iEeE

55. IRFISTTHT 1498 HAWME T
REEIR L

(A) et

(B) T

(C) wTedE

(D) et

56. STETATE RIS 1 SIHIT TH 18 2
(A) S

(B) &

(C) st

(D) fie siiee &9
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57.

58.

59.

60.

61.

62.

Where is the headquarters of
Archaeological Survey of India ?
(A) New Delhi

(B} Kolkata

(C) Mumbai

(D) Pune

Which planet is known as “Green Planet”?
(A) Earth

(B) Venus

(C) Jupiter

(D) Uranus

Which Ocean has the deepest point ?
(A) Atlantic

(B) Indian

(C) Pacific

(D) Artic

Radcliffe line is in between India &

(A) China

(B) Pakistan
(C) Nepal

(D) Bangladesh

Which is the First Greenfield Airport in

North-East region ? :

(A) Lokpriya Gopinath Bordoloi
International Airport

(B) Pakyong Airport

(C) Kempegowda International Airport

(D) Netaji Subhash Chandra Bose
International Airport

Dudhwa National Park is located in —
(A) Uttar Pradesh

(B) Uttarakhand

(C) Bihar

(D) Madhya Pradesh

(8)

57. W YOTaes A eIt S AT Fel 8 7
(A) 73 feett

(B) Fieteprar

(C) 5= .
D)

58. forer 71& 1 g @ 78" & T A JET TR 2
(A) gt

(B) H

(©) Fewafa

(D)

59. gard e faig v weTaTT A 2 2
(A) Fewifes

(B) W™

(C) st

(D) ATH{H

60. TefereTss TET wiE 3R Fa
(A=

(B) feFeam

(C) Aure

(D) SATRY

61. IT-YH &7 1 Feel AhIES FaTS Srger i a1

&
(A) A0 MAATY SRR ST garé 37get
(B) UTRATT §ETE 31T
(C) ST SaTTLR &aTs STgen
(D) TSt Ty <3 A1 SIS 74T ST

62. JET ST Far el e 22
(A) I g7

(B) SwrEs

(C) fmr

(D) I R
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63. Capital of Myanmar is —
(A) Algiers

) Thimpu

) Bogota

D) Nay Pyi Taw

(B
(c
(

64. Army Day is celebrated on —
(A) 15 Jan
(B) 15 Mar
(C) 08 Oct
(D) 04 Dec

65. World’s Teachers day is celebrated on —
(A) 02 Oct
(B) 03 Oct
(C) 04 Oct
(D) 05 Oct

66. International Women’s day is celebrated
on -
(A) 08 Mar
(B) 08 Apr
(C) 08 May
(D) 08 June

67. Which is not an Endocrine gland ?
(A) Pituitary
(B) Peripheral
(C) Adrenal
(D) Pancreas

68. A disease caused by a virus —
(A) Cholera
(B) Tuberculosis
(C) Leprosy
(D) Chicken Pox

63, v TeEE R 2
(A) TSt

(B) forg

(C) =T

EIRRIkICH

64. B T el T ST @ ?
(A) 15 a1

(B) 15 AT

(C) 08 3TH

(D) 04 faga

65. Tarer reres e ey waTan STl 82
(A) 02 TR
(B) 03 3TF
(C) 04 ST
(D) 05 FTER

66. e A farw o T ST @ 2
(A) 08 Tl

(B) 08 39«

(C) 08 7%

(D) 08 5

67. S sf-amE ufr T e 0
(A) freged

(B) ufeeft

(C) FAfergerh

(D) SF=Te

68. fersmoy & 2 T T
(A) BT

(B) &= T

(OF a0l

(D) forh i
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69. Longest muscle in human body is =

(A) Biceps

(B) Sartorius

(C) Triceps

(D) Rectus Femoris

. Who is the Father of Medicine ?
(A) Theophrastus
(B) Hippocrates
(C) Aristotle
(D) None of these

. Author of “Mudrarakshasa” —
(A) Hemachandra
(B) Ballal
(C) Vishakhadatta
(D) Padmagupta

72.Yeastisa—

(A) Algae
(B) Bacteria
(C) Fungus
(D) Protozoa

. Longest human bone —
(A) Femur
(B) Forearm bone
(C) Sternum
(D) Girdle bone

- Which of the following gas is not a Green
House gas ?
{A) Carbon dioxide
(B) Methane
(C) Argon
{D) Chlorofluorocarbon

(10)

69. WIS IR T gad st atguef @ -
(A) ST

(B) Tretfem

(C) g

(D) Few Faife

70. fefre & Fw P E 2
(A) Frmreg |

(B) fevihea

(C) siferea

(D) ¥ & =S 7

71. ETTEE 3 Tatar -
(A) ToeE

(B) FewT

(C) formrames

(D) 91w

72. @HRFE?
(A) Sare
(B) SsAfen

(C) $%&
(D) RS

73. WIS i v el wee -
(A) I

(B) WHIB I w5l

(©) &

(D) A q9

74, fraferfiaa § & i € g fie erea M T 2
(A) FTH STgaiTHTEE

(B) He

() s «

(D) FANTAAFHT
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75.

76.

77.

78.

79.

80.

Buoyancy is a/an —
(A) Upward pressure

(B) Downward pressure
(C) Downward force
(D) Upward force

The first Lokpal Bill introduced in
Parliament in -

(A) 1968

(B) 1967

(€) 1971

(D) 1972

Wellington trophy is associated with
which game ?

(A) Golf

(B) Lawn tennis

(C) Rowing

(D) Polo

Headquarter of FIFA is located at —
(A) Athens

(B) Dubai

(C) London

(D) Zurich

Headquarter of UNESCO is in —
(A) Montreal

(B) Vienna
(C) Paris
(D) Nairobi

Who is the author of “Anand Math” ?
(A) Amartya Sen

(B) Aurobindo Ghosh

(C)BC Chattopadhayay

(D) R N Tagore

{11)

75. TECATI®HAT B -
(A) STH A qarg
(B) 4 Y 3w zarg
OEEEIE
(D) ST F M T

76. W SHITe frdes e i w97 far
(A) 1958
(B) 1967
(C) 1971
(D) 1972

77. afciTe 2Rt e G @ w2
(A) e

(B) & g

(C) Tgm

(D) it

78. YT 1 AT e fru 2 0
(A) Ty

(B) g=8

(C) wiga

(D) Sqfee

79. UNESCO %1 JeTerd #af feer 2 2
(A) Hifzare

(B) ferrmr

(C) U

(D) Hrsft

80. “IMTT+g 43" F F@F HT S 9
(A) st B

(B) sTfeat gy

(C) it =t srgreamy

(D) 3R T R

SET-A/CLASS-1X/2023-24



21, “Kangaroo” is the national emblem of —
(A) USA
{B) UK
(C) France
(D) Australia

82. “Leaning tower of Pisa” is in which
country ?
(A) England
(B) ltaly
(C) France
(D) Austria

83. Which is the smallest country (Area
wise)?
(A) Vatican City
{B) Manaco
(C) Nauru
(D) San Marino

84. Capital of Australia is -
{A) Sydney
(8) Canberra
{C) Melbourne
{D) Perth

85. Longest day ison —
(A) 21 June
(B) 22 June
(C) 21 May
(D) 22 May

86. Which of the following is not a vaccine
prevent disease ?
(A) Tuberculosis
(B) Measles
(C) AIDS
(D) Diphtheria

(12)

g1, “smre freen usf e 2 2
(A) T TsT SRR

(B) A

(C) |

(D) sitefern

82, wﬁmﬁrgﬁgjwm%ﬂﬁ%?
(A) T
(B) g2t
(C) %Y

(D) sfifegan

83, Tl BT 3 (@E g M AR
(A) afes fadt

(B) HHTH

(C) e®

(D) &7 &fe

84, airezforat i T 1 8 2
(A) faet

(B) FaU

(C) e

(D)

85, T o A FE AT R ?
(A) 2153
(B) 22 5H
(© 217
(D) 227

g6, Frrrferftaa i O -8 2o U7 T T oA T
20

(A) &= T

(B) @&

(C) T=H

(D) fevefifn
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87.

88.

89.

90.

91.

92.

93.

PM Narendra Modi inaugurated “Mahakal
Lok” corridor in which city?

(A) Ujjain

(B) Somnath

(C) Amarkantak

(D) Nashik

India’s maiden human space mission will
be launched in 2023. What is its name ?
(A} Vayumitra

(B) Vikram

(C) Chandrayan 3

(D) Gaganyaan

Who is India’s Attorney General ?
(A} Harish Salve

(B) R Venkataramani

(C) S Ganesh

(D) KV Viswanathan

Which mammal doesn’t have vocal cords?
(A) Giraffe

(B) Panda
(C) Coyote
(D) Walrus

How many bones does the human skull
consist of —

(A) 21

(B) 22
(C) 23
(D) 24
Which planet has the shortest day ?
(A) Uranus

(B) Neptune

(C) Pluto

(D) Jupiter

How many countries are there in Great
Britain ?
(A) 4
(B) 2
(€) 3
(D) 5

(13)

87. wrar wft iz Wi 3 g vt i rugreRTer e
T =T 3greT R

(A) I599

(B) @y

(C) 3R

(D) 7Ty

88. YR 1 UgeT AHa it faem 2023 § &g
Torar st gt T = 22

(A) e

(B) ferrm

(C) Fzam 3

(D) TTEH

89. STRA HT WEATIATH H & 2
(A) v wred

(B) AT dwmeeafor

(C) T\ o

(D) et faaamerm

90. ferer Tt & A it e B 2

91. HHa WU § foheft egfeat et -
(A) 21
(B) 22
(€) 23
(D) 24

92. for o w1 o we@ wreT BT £ 9
(A) JF"

(B) Fu=ga

(©) =

(D) gewfa

93, Tz R o fram 3w 8 0
(g

B)2

©)3

(D)5
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94,

95.

96.

97.

S8.

99.

World’s most active volcano is —
(A) Cotopaxi

(B) Kilauea

{C) Vesuvius

(D) Fujiyama

Circumference of the Earth was first
calculated by —

(A) Aryabhatta

(B) Galileo

(C) Eratosthenes

(D) Wegener

Which acid is produced when miik gets
sour ?

(A) Acetic acid

{B) Lactic acid

{C} Butyric acid

(D} Tartaric acid

The lens used to rectify long sight is —
{A) Convex lens

{B) Concave lens

(C) Plano convex lens

(D) Plano concave lens

Excise duty is levied on the —
{A) Import of gcods

(B} Export of goods

(€) Production of goods

(D) Sale of goods

Food wrapped in newspaper is likely to
get contaminated with —

{A) Iron

{B) Lead

{C) Aluminium
(D} Magnesium

100. How many judges are members of

International Court of Justice?
{A) 12
(B) 15
(C) 18
(D) 21

(14)

94. g = watfus aftea saremet -
(A) FrErdt :

(B) fepemmaem

(C) agfrr™

(D) Fioramr

95. et < afefy ot o wrtwer foredh g R T
off 2

(A) 3TRiwg

(B) Aefiferat

(C) TrerisT

(D) IR

96. T T B T I AT I AT 27
(A) ffes uftre

(B) Affew ufers

(C) =fefe ofers

(D) zréfes uftre

97. e gfy =1 St % o fo ww Sw -
(A) Fad &9

(B) Haae |

(C) It 3T o

(D) WA 31 o F

98. SAEF Yok AMAT AL
(A) WTET T ST

(B) uTet %1 farta

(C) |t 1 JeqTE

(D) uret Y fersfy

99. THTET T § T T S F g B
e frad B @

(A) &raT

(B) 718

(C) weptfrm

(D) Beftfyray

100. sieisda = ¥ fram =mad
e E 9

(A) 12

(B) 15

(©) 18

(D) 21
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MATHEMATICS

101. Find the value of -
343 X343 X343 -113X 113X 113

343X 343+ 343X 113 + 113 X 113
(A) 210
(B) 230
(C) 250
(D) 215

102. If /37 = 729, then the value of n is —
(A) 6
(B) 8
(C) 10
(D) 12

103. LCM of two prime numbers x and y {x > y) is
161. The value of 3y —x is:

(A) -2

(B) -1

(€)1

(D) 2

104. A man in a train notices that he can count 21
telephone posts in one minute. If they are known
to be 50 metres apart, then at what speed is the
train travelling?

(A) 55 kmph

(B) 57 kmph

{C) 60 kmph

(D) 63 kmph

105. A number when divided by 6 leaves a

remainder 3. When the square of the same

number is divided by 6, the remainder is:
(A) O

106. What is the unit digit in
[(264192) + (264103 ]

(A)O

(B) 1

(€) 6

(D) 8

107. If a+b+c = 0, then the value of
(918, BFE S ) e e
c a b b+c c+a a+b "
(A) 9
(B8) O
(C) 8

(D)-3

(15)

101. 9T 19 U
343X 343X343-113X 113X 113

C) 10
(D) 12

103. 2 wfer Tt x ity (x>y) 1 AN GuIGTd®
161 8] 3y — x T U &:

(A) -2

(8) -1

€1

(D) 2

104. T 34 B U ATeHt Nfow w4 & o ag w fme i 21
%ﬁﬁqﬁaﬁmmm%aﬁ%so%ﬁiﬁm%
@ 24 fra nifa @ amn w22

(A) 55 fRow0=0

(B) 57 fHo0=0

(C) 60 feromOE0

(D) 63 fF0T0%0

105. 57 ferelt T 1 6 @ fnfSrg fr s 8, v Siw 3
ITH BT 8| ST It G & @l Y 6§ i R s
2, A Em -

(A) O

(B) 1

(C) 2

(D) 3

106. [ (2649%) + ( 264193 | =1 $1E 37 1 BM?
(A) O
() 1
(©6
(D) 8

107.9f¢ atb+c =0, a1

a+b b+c  c+a a b c

8 T L AR
(A) 9
(8) 0
(©8

(D) -3
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108. If x + = = b, then the value of XA gt
x bx*—x

(A) atb
(8) =
(© 2
(D) ab

109. ‘A’ can go round a circular path 8 times in 40
minutes. If the diameter of the circle is increased
to 10 times the original diameter, then the time
required by ‘A’ to go round the new path once,
travelling at the same speed as before is:

(A) 20 min

(B) 25 min

(C) 50 min

(D) 100 min

110.ifab—b +1=0and bc—c+1=0, then what
is the value of (a —ac)?

(A) -1

(8) O

©1

(D) 2

111. If ‘@’ is an integer such that a + i-= 34?- then
the value of (a — %) is:

(A) 4

(8) 1:37-

(€ };

(D)

112. If a— b =1 then the value of a3 - b® - 3ab will
be ¥

(A) -3

(8) -1

1

(D)3
113. |f—;- :% .1 _2.3:5 then determine xy:z

z
(A) 6:15:10
(B) 3:15:10
(C) 15:3:10
(D) 15:10:6

114. If the radius of the circle is decreased by
20%, then the percentage decrease in its area is:
(A) 26%
(B) 32%
(C) 36%
(D) 53%

(16)

2
108, R x + Lo, A S A R
x bx2-x3
(A) atb
__2b
(B) —
a
C b
©:
(D) ab

109. ‘A’ 4oﬁﬂzﬁwmwmswwma
a&qamm,armﬁﬁm%mgma@ﬁmaﬁaa
‘A’mmmmmwwmﬁwaﬁwﬁ,
Sraifeh =Tl G €12

(A) 20 fiFe

(B) 25 firme

(C) 50 fire

(D) 100 e

110. 7/ ab-b +1=0 3 bc —c + 1= 0, d (a - ac) T
T T E?

(A) -1

(B) 0

©1

(D) 2

111.?1%*5@@%5%3%1“%:1—7—&[@%)%:%

4
L=
(A) 4
}_3_
®)
o 2
©

15
W)

112 aRa_b=1d1a3-b3 -3abFHAAE -
(A) -3
B) -1
1
(D)3

113.‘1&-1-:3':1=2:3:5ﬁxty:zﬂﬁ$ﬁ—
x'y z

(A) 6:15:10

(B) 3:15:10

(C) 15:3:10

(D) 15:10:6
114, 3f e g o B & 20% 1wt Ereft & A 3WR
frepe o Fape wirera by el BT

(A) 26%

(B) 32%

(C) 36%

(D) 53%
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115. If a shopkeeper marks the price of goods
50% more than their cost price and allows a
discount of 40%. What is his gain or loss percent?

(A) Loss 10%

(B) Gain 10%

(C) Loss 9%

(D) Gain 9%

116. The lowest term of an expression —
x24+8x+12 | x*+4x—-12 B

x2—7x+12 " x—4
i
(A) (x=3)(x+2)
(B)

X2
(x+2)
()
(D)

x+2

(x-3)(x~2)
x+3

(x-2)

117. If a, b, c are real numbers such that a<b and

¢<0 then which of the statement is true?
(A) 1
c C
(B) ac< bc
c <
{C) =
(D) ac > bc

118. If 2S = a+b+c then
(S—a)®+(S—b)’ +3(S—a)(S—b)cis equal to
(A) &
(B) c
(C) (S-¢)
(D) None of these

119. Value of V0.9 is
(A) 0.3
(B) 0.94
(C) 0.92
{D) None of these

120. Find the remainder of — -
(A) 2
(B) 3
(C) 4
(D)1

(17)

115. ek GHTFETE 35 HE & 50%% SATeeh W S0 |1l 1
sifehel T & ST ifeRa oo W 40% Y T I 2| IH
T =T & wferer = g

(A) T 10%

(B) &9 10%

(C) BT 9%

(D) &9 9%

116. FfaRaa sise 1 ferad e a0 -

x2+8x+12 | x*+4x-12

x2-7x+12 _"x 2x—4
(A) (x=3)(x+2)
(8)

x—2
(x+2)
(©)
(D)

x+2
(x=3)(x~2)
x+3

(x-2)

117. 3% a, b, ¢ arEdfae GEATT 3T a<b T c<0
e d a2

(A) £ <2

(B) ac< bc

k) s
(D) ac > bc

118. 9% 2S=atb+c @l
(S-aP+(S-b)P’+3(S—a)(S—b)cHuAAR -
()
(B) ¢
(C) (S—¢)
(D) 38 & g Tt

119. /0.9 Fram g -
(A) 0.3
(B) 0.94
(C) 0.92
(D) T9 & g T

120, s et Mo
(A) 2
(B) 3
(C) 4
(D)1

SET-A/CLASS-I1X/2023-24



121. Find the value of -

\/242

(A) 2
(B) 22
(c) 23
(D) 25

122. When each side of a cube is increased by
20%, then find the increase in its total surface
area.

(A) 20%

(B) 80%

(C) 44%

(D) 84%

123. The ratio of pens and pencils in a shop is 3:2
respectively. The average number of pens and
pencils is 180. What is the 30% of the number of
pencils in the shop?

(A) 150

(B) 144

(C) 245

(D) None of these

124, The cross-section of a canal is trapezium in
shape. The canal is 12m wide at the top and 8m
wide at the bottom. If the area of the cross-
section is 840m?, then depth of the canal is —

(A) 8.75m

(B) 42m

(C) 63m

(D) 84m

125. Triangle ABC is right angled at C and pis the
length of the perpendicular from C to AB. If BC=a,
AC=b, AB-c then

(A)

(B) pc ab

1
(C) + P ab
(D) None of these

126. If two pipes function simultaneously, the
tank is filled in 12 hours. One pipe fills the tank 10
hours faster than the other. How many hours
does it take the fast pipe to fill the tank?

{A) 6 hrs

(B) 10 hrs

(C) 20 hrs

(D) 22 hrs

(18)

121. 919 319 &0 —

NP T

(A) 2
®) 2°
© 23
D) 2°

122, el 51 oY sy A 20% g 13, sk et
T G & et et B

(A) 20%

(B) 80%

(C) 44%

(D) 84%

123. U 3o & U9 3 ftret o1 srare e 32%;‘3?
ﬁt&fﬁaﬁaﬂmmm%}mﬁmaﬁm
1 30% foRar 82
(A) 150
.(B) 144
(C) 245

(D) T9% G &1 et

124. @mmmmmﬂwéﬁmaaﬁ
TE T W 12 it < R ot A g et 2, i
FRE-HF HT TG 840 7 2, sHFT TRUS 2

(A) 8.75 Hier

(B) 42 dfex

(C) 63 "

(D) 84 dffex

125. st ABC, cqrwaﬁw%aﬁzp,maﬁmé%c
ﬁABm;zn%B&a AC=b, AB=c

W3-

(B) pc=ab

©z+5-=

(D}Sﬁﬁ'ﬁﬁ%"f

126. AR 3t ury o wrr w e R, A uwm ey 12 2
WUSITAT & | O 915 2 ) ga o ger i 10 5 A
m%[a&ﬁraﬁuﬁ%%@amﬁ 3 fopa &
T 27

(A) 68

(B) 1052

(C) 205

(D) 2252
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127. How many square shapes does the net of a
cube have?

(A) 4

(B) 6
{C) 8
(D) 10
128. Which of the given shapes is NOT a 3-D
shape?

(A) Trapezoid

(B) Prism

(C) Pyramid

(D) None of these

129. The three perpendicular distances of three
sides of an equilateral triangle from a point which
lies inside that triangle are 6¢cm, 9cm & 12cm
respectively. The perimeter of the triangle is:

(A) 42Vv2 cm

(B) 45V3 cm

(C) 52v2 cm

{D) 54v3 cm

130. A rectangie of maximum area is drawn inside
a circle of diameter 5cm. What is the maximum
area of such a rectangle?

(A) 25 cm’

(B) 12.5 cm’

(C) 12 em?

(D) None of these

131. The angles x°, a°, ¢° and (180~ b)° are
indicated in the figure. Which of the following is
correct?

(19)

127. U O 1 ST feher it © waT 22
(A) 4
B) 6
(€8
(D) 10

128, Freffias st & @ a1 Bremnd s ad 82
(A) G
(B) fosw
() frfire
(D) 39 Q%15 7

129. ek Ty et o v feura el forg & wqratl <1
e g e 6 810, 9 BRfto SR 12 80 ® | Pyt
1 afmmg B

(A) 422 o

(B) 45V3 0

(©) 522 &fto

(D) 54\3 &fto

130. 5 Befto =Ty aret Uk I § SifirRan aEwe il Gh
e e ST 2] X STrE o STfireRa S 4 22
(A) 25 cm’
(B) 12.5 cm’
(C) 12 cm’

(D) T8 & HIE TR

131, far & 0T x°, a°, ¢° 3N (180-b)° Taw T ]
feaffae i e o ad 2
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132. In the given figure, ABCD is a square and
ZABC=90°. If AQ = BR = SC, then consider the
following statements:

1 QB=RC

I AB =BC

] £BAC=45°

v AC=PS
S % R

(A) Only | & IV are correct

(B) Only 1, Il & Iil are correct
(C) Only I, 1 & IV are correct
(D) All are correct

l a? b2 c?

133. If ab+bc+ac =0 then e Py g sl e
isequalto:

(A)O

(8) -1

1

1 1 1
(D) - et g ]

134. In a right angled triangle, the mid-point of
the hypotenuse is:

(A) Circumcentre

(B) Incentre

(C) Excentre

(D) Orthocentre

135. If “’ is the median of an equilateral triangle,
then area of triangle is:
x2
(A) =
(B) x?

(B2

()=

136. If area of a parallelogram with sides p and q

is R and that of a rectangle with sides p and q is S,

then
(A)R>S
(B) R<S
(C)R=S
(D) No relation between R & S

(20)

132. fRw e fo &, PQRS s ol & 3 LABC=90° | af%
AQ=BR=SC, & fifeifga wadi w feem

I

T2 B =

QB=RC
AB =BC
LBAC=45°

AC=PS
c R

A T Q
(A) T 1& 1V T |
(B) %59 1, 11 & Il W& 2|
(C) Fa I I & IV T 2|
(D) Tt gt 3

a? b2 c?

133. 31 ab+betac=0 @ + =

oo foee
a?-bc b?2-ac c2%-ab
(A) 0

(B) -1
©) 1
3.3

¥
(D)~[;;+;+;;]

134. O wah1on Frgst 3 ol o wear-foig e @

(A) ufhg
(B) 31=: %%
(C) 3%
(D) Tvarhg

135. af foreft wwag Frger ot mrferer ' &, 4 3w
BELION S

x2
(A) Y
(B) x?
2
© V3x

2
2

X
i

136. & p 3R q oI et TG IS 1 ST R B
3R I p 31 q AT ST 7 et S B,

(A)R>S

(B) R<S

(C)R=S

(D) R 3 S ¥ st #1E gaiy 78
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137. ABCD is a Rhombus in which £C=60°, then
AC:BDisequalto~

(A)1:v3
(B)1:v2
{C)v2:1
(D)v3 :1

138. Mr Sharma travels by car and covers 25% of
his journey with a speed of 10 kmph, 45% of his
journey with a speed of 5 kmph and remaining
30% of his journey with a speed of 15 kmph.
What will be the average speed of Mr Sharma for
the whole journey?

(A) 8.20 kmph

(B) 7.40 kmph

(C) 6.10 kmph

(D)9 kmph

139. A tank is 7 m long and 4 m wide. At what
speed should water run through a pipe 5cm
broad and 4 cm deep, so that in 6 h and 18 min,
water level in the tank rises by 4.5 m?

(A) 12 kmph

(B) 10 kmph

(C) 14 kmph

(D) 18 kmph

140. How much pure alcohol should be added to
400 ml of 15% solution to make its strength 32%?
(A) 120 ml
(B) 133 ml
(C) 100 ml
(D) 163 ml
141. In what time will Rs.3300 becomes Rs.3399

at 6% per annum interest compounded half-
yearly ?

(A) 1% years

(B) 6 months
(C) 1 year
(D) 3 months

142. The difference between the interior and
exterior angles of a regular polygon is 60°. Then,
how many sides are there in the polygon?

(A)5

(B)6

(€7

(D)8

(21)

137. ABCD U gaaqys & fom £C=60°, @1 AC : BD
T R -

(A) 1:V3

®) 1:V2

©V2:1

®\3:1

138. oft Tt SR & AT e & ST 7Y AT T 25%, 10
ot wfer w2 Y ifar @, 45% amn 5 ferft wfa e frnfa &
ST I 30% AT 15 foreft wie v < iy & o e B
Jran & of yrt <Y siea nfe s Evite

(A) 8.20 forft wfey =i

(B) 7.40 forft wfer =iz

(C) 6.10 freft wfg wie

(D) 9 foreft wfe =12

139. Us 35 7 Htet wan 3iit 4 dier e 21 5 aft i o
4 Qefy e 913 @ 9 R ife @ st TR, At 6 5
3 18 fire § 3 0 urft 1 & 4.5 Hiet 57 ST

(A) 12 fopeft gfer =2

(B) 10 foreft wfer =2

(C) 14 Tt wfa =2

(D) 18 ferrft wfer =2

140. 319} qTehd 32% FAH & TIT 15% et 3 400
forefrefiet & foraeft s v firems st =nfeey

(A) 120 faefrefet

(B) 133 firefieftex

(C) 100 fefrefet

(D) 163 firefieftex

141. refanfier Tshaf saTS W 6% ATl A A WA,
3300 o™ T # . 3399 & ST

(A) l-zaé
(B) 6 WEH
(€) 1§

(D) 3 W&

142, TF G IE9S % STTafeR ST e o o sfter
R 60° 21 T, T & Fopet ot &7

(A)S

(B) 6

©7

(D) 8
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143. In the given figure, ABCD is a parallelogram
and E is the mid-point of AD. A line through D,
drawn parallel to EB, meets AB produced at F and

BC at L, then
D C

{A) AF=2DC

(B) 2AF=3DC

{C) 2DF=3DL

(D) AF+DF=3DC+DL

144. If the average of 4 observations is 20 and
when a constant P is added to each observation
the average becomes 30, then the value of P is:

(A) -10

(B) 10

(C) 4

(D)8

145. Pie chart is drawn with the help of:
(A) radius of the circle
{B) chords of the circle
(C) sectors of the circle
(D) diameter of the circle

146. City A has a population of 136000 which is
decreasing at the rate of 2400 per year. City B has
a population of 84000 which is increasing at the
rate of 1600 per year. In how many years will the
population of two cities become equal?

(A) 13

(B) 18

(C) 15

(D) 19

147. Average of ten positive number is X. If each
number is increased by 10% then X :

{A) remains unchanged

(B) may increase

(C) increase by 10%

(D) None of these

(22)

143, few me fo #, ABCD W& @it 5s € R E, AD
w1 wen-foig 31 D & v v, 1 6 EB % wiet 8, 9 g
AB %} F W 3 BC #I L o frereft 2,

1] C

A B F
(A) AF=2DC
(B) 2 AF=3DC
(C)2DF=3DL
(D) AF+DF=3DC+DL

144. af2 4 Yo7 w1 3fEa 20 § 3 o T3 Jeavr H UH
ReppSeTA A N0 I E, AP F AR
(A)-10
(B) 10
©) 4
(D) 8

145, 9TE =T Forerk T ST et 27
(A) Fa ot fsa
(B) I 1 Sftar
C) TMHFTSH
(D) T H | d

146. TET A I SHEEAT 136000 & S 2400 i o i T
¥ 5E 2| TR B 6 SHEEA 84000 B S ufd o 1600
F Y g @ 2 frad avt & ATyl i srdE s
& STt

(A) 13

(B) 18

(©) 15

(D) 19

147. 26 ST Gl &1 3 X ) I T sen d
10% S afg Hr e 2 ar X -

(A) S =&

(B) 93 GaT &

(C) 10% &M

(D) $9 | &IS eI
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148. From a container having pure milk 20% is
replaced by water and the process is repeated
thrice. At the end of the third operation, the
percentage of pure milk is:

(A) 51.2%

(B) 50%

(C) 40%

(D) 58.8%

149. A dishonest dealer professes to sell his
goods at cost price. But he uses a false weight

and thus gains 61—3 %. For a kg, he uses a weight

of:
(A) 940 gms
(B) 947 gms
(C) 953 gms
(D) 960 gms

150. A dairyman pays Rs.6.40 per litre of milk. He
adds water and sells the mixture at Rs.8 per litre,
thereby making 37.5% profit. The proportion of
water to milk received by the customers is:

(A)1:10

(B) 1:12

(C)1:15

(D)1:20

151. The sides of a triangle are 3cm, 4 cmand 5
cm. The area (in cm?) of the triangle formed by
joining the mid-points of the sides of this triangle
is:

3

(A) 2

4
3

(B) 5
Q)3
(D) 6

152. A polygon has 35 diagonals. Then the
number of sides of that polygon is:

(A) 7

(B) 10

(C) 11

(D) 12

153. In how many years will the sum of Rs.800 at
10% per annum compounded semi-annually

becomes Rs.926.10 ?

(A) 1%
(8) 1%
(©) 23

1
(D) 2;

(23)

148. Y[ g9 1 T e H 20% TTH & e St &
it ) wfdha st i S Srer S 21 e ATEH &
37 H, Y& 39 1 e &:

(A) 51.2%

(B) 50%

(C) 40%

(D) 58.8%

149, T ST T I HIST Y AT qEd T AT H
T AT B AR T8 S T T I HAl & I

BT 6. 0 T T ST AT 2 T et 3 g, 3@

forerY =St T SN AT 27
(A) 940 T
(B) 947 "
(C) 953 7|
(D) 960 T

150. T S AT T, 6.40 Ff it i T @ g4 wliear @)
a1 3u uif fircrar & i fror s . 8 wfd el T st
2, @l 37.5% T 2 21 e 31 ST U S g
T R:

(A)1:10

(B) 1:12

C)1:15

(D)1:20

151. ok Frger oY e 3 4f, 4 Soft ofie s At &1 5
Foreget o sgsmalY 3 weaforgatt & firer & s P ot
Serher (ATt 7) 27

A2

®)3

© 3

(D)6

152, afé vk wgyst 35 forabut & it 3 agaqer <1 ygsiraAt
Froemn

(A7

(B) 10

© 11

(D) 12

153, fererr et & =, 800 ot Tfir 10% Sf o <ot 1
- T . 926.10 & ST ?

4
(A) 15

1
B) 15

i A
© Zg
D) 2‘5
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154. Divide Rs.2379 into 3 parts so that their
amounts after 2, 3 & 4 years respectively may be
equal, the rate of interest being 5% per annum at
simple interest. The first part is:

(A) Rs.759

(B) Rs.792

(C) Rs.818

(D) Rs.828

155. There is 60% increase in an amountin 6
years at simple interest. What will be the
compound interest of Rs.12000 after 3 years at
the same rate?

(A) Rs.2160

(B) Rs.3120

(C) Rs.3972

(D) Rs.6240

156. Two trains running in opposite directions
C€ross a man standing on the platform in 27 sec
and 17 sec respectively & they cross each otherin
23 seconds. The ratio of their speeds is:

(A)1:3

(B)3:2

(C)3:4

(D) None of these

157. A boat takes 19 hours for travelling
downstream from point A to point B and coming
back to a point C midway between A & B. If the
velocity of the stream is 4 kmph and the speed of
the boat in still water is 14 kmph, what is the
distance between A & B ?

(A) 160 km

(B) 180 km

(C) 200 km

(D) 220 km

158. ABCD is a Rhombus whose diagonals meet at
O, then AB® + BC? + CD? + AD? s equal to:

(A) AD? + AC?

(B) AC? + BD?

(C) A0? + OC?

(D) 2 (AO* + 0B}

159. The sum of five consecutive odd numbers is
1185. Find the smallest number:
(A) 233
(B) 213
(C) 237
(D) 211

(24)

154. %2379 %1 3 vt & Rnfre =5t anfie sy 2,33k
4aﬁ%mmﬁnﬁrwﬁ,mmwwa
5% wfd &) weem w2

(A) % 759

(B) & 792

(C) % 818

(D) %, 828

155.mmmaaﬁﬁ@nﬁrﬁéo%aﬁq&:ﬁ?ﬂ
REELE & b 12000 1 wrshaf sare7 e
&

(A) % 2160

(B) %.3120

(C) %.3972

(D) %. 6240

156.%@3%#:53@@%&%%@%@
wﬁsaﬁm:ymaﬁzwmﬁwm%aﬂt%
ng%a%mﬁﬁﬁm%m‘?%mﬁwﬁmm%:

(A)1:3

(B)3:2

(€ 3:4

(D) 37 & ¥ 7eff

157.@mmﬁﬁwﬁﬁgA%%§wam
W‘AWB%WﬁﬁECWWWﬁ(IQﬁ%WW
E%Eﬁ%mﬁammémﬁsmr%w%aﬁtmmﬁm
a‘frfri‘?nﬂ%vﬁuﬁﬁa%,anaﬁw%aﬂaﬁgﬁw%?

(A) 160 foret

(B) 180 fardt

(C) 200 faret

(D) 220 et

158. ABCD W wwreiqyfst & fords oot O w et &, oy
AB’+BC’ + CD* + AD® s

(A) AD* + AC?

(B) AC’ + BD?

(C) A0’ + OC?

(D) 2 (AO” + OB?)

159. i<t AT forewt s st o a1 185 2
mﬁémm#wmaﬁf%m:

(A) 233

(B) 213

(©) 237

(D) 211
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160. Simplify -
(ax-by+cz)* + (ax—by—cz)* - 2(ax-by+cz)(ax—by-cz)
(A) 8% + 2
(B) abcxyz
(€ 4c2xy
(D) 4c*2

161, When x —% =2, find x*+ ;1;
(A) 8
(B) 6
(€) 26
(D) 34

2avi+x?

162. If a+b=x+m,then X is:

a-b
(i e
a+b

(B) S=
(c) 22

a-b

(D) PN

163.1f x = (a + Va2 ¥ b7 )5 + (a —VaZ T 57 )3
then value of x3 + 3b%x — 2a is

(A)o

(B) 1

(C) a

(D) b

164. What number should be added to 231228 to
make it exactly divisible by 33?

(A) 1

(B) 2

(C) 3

(D) 4

4 2 2
165. If W: —2and x +y = 3z, then

the value of z is;
(A) 2
(B) 3
(C) 4
(D) None of these

160. 9T X -
(ax-by+cz)’ + (ax-by-cz)’ ~ 2(ax~~wby+cz)(ax~by—~cz)
(A) a’x” + 7
(B) abcxyz
(C) 4c’xy
(D) 4’7

161. s x—%=2 grar x‘*+xi4 318 AR
(A)8
(B) 6
(C) 26
(D) 34

2avi+x?2 .,
162.9Rk a+b=——x=— g a
a e aar x EIGE IO
£ a—-b
( )a+b
a+b

(5 2vab
ath

© a-b
a~b

O v

163.9R x = (a + Va? +b2)§+(a—\/a2+b2)§
B x3 + 3b%x — 2a w1 O FAHRA

(A) 0

B) 1

(©)a

(D)b

164. §&AT 231228 & foperrr SIS o e s 33 @ e
ferrfra & sme 2

(A) 1

(B) 2

€3

(D)4

g x%+y2422_64
165. 9fe =
Bz & a9 i

(A)2
(B) 3
© 4

(D) 39 A ¢ 7

= 23 x+y=2z
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Directions: The following diagram shows the
expenditure of a family on various items A, B, C, D
& E. Study the diagram and answer the questions
from 166 to 168.

166. The angle of wheel diagram showing
expenditure incurred on item A is:

{(A) 30°

(B) 35°

(C) 108°

(D) None of these

167. Which two expenditures together will form
an angle of 90° at the centre of the wheel
diagram?

(A) D&E

(B) C&A

(C)B&D

(D) None of these

168. If the income of the family is Rs.3000 per
month then expenditure of item C will be:

(A) Rs.400

(B) Rs.500

(C) Rs.600

(D) Rs.800

169. ABC is a triangle in which AB=AC. Let BC be
produced to D. From a point E on the line AC, let
EF be a straight line such that EF is parallel to AB.
Consider the quadrilateral ECDF thus formed. If
£ABC=65° and 2EFD=80° , then £FDCis:

(A) 43°

(B) 41°

(C) 37°

(D) 35°

170. Find the least square number which is
exactly divisible by 3,4,5,6 & 8.

(A) 14400

(B) 32400

(C) 57600

(D) None of these

(26)

By Frfafisa s R 7l A, B, C. DINEW
@w%m?ﬁaﬁm%mﬁawmﬁaﬂnéb
¥ 168 TF ¥ 9= F I3

166. 11 A W TR T 59 Y 2T ST 5k ST 1 R0
S

(A) 30°

(B) 35°

(C) 108°

(D) T A S

167, I & B el T S < A ok 7 R
1Y 0T T AT 90° B 2

(A)D 3R E

(B) C3RA

(C) B3RD

(D) T & F1E el

168. afe afeam Y 31 &, 3000 ¥ ATE B A G C H
TR

(A) %. 400

(B) % 500

(C) % 600

(D) %. 800

169. ABC @ et & firerll AB=AC ®1 W efifog BC H1
D 4 ST ST 21 T AC W T g E ¥, EF T Ut
it v 13 3 6 EF, AB % SHIHIGC 8l 39 e iod
=l ECDF R fam il 371 £ ABC=65° 3
LEFD=80° , a LFDC &:

(A) 43°

(B) 41°

(€) 37°

(D) 35°

170, 98 D1t & B an g i HRT S 3, 4, 5, 6 3R
8@%:%‘“@@!

(A) 14400

(B) 32400

(C) 57600

(D) S8 & F13 T
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171. Evaluate — V27 + V0.008 + V0.064
(A) 3.6
(B) 36
(C) 360
(D) 0.36

172. Suppose a certain sum doubles in 2 years at
% rate of simple interest per annum and R% rate
of interest per annum compounded annually.
Then,

(A)r<R

(B) R<r

(C)r=R

(D) Cannot be determined.

173. If x3 + 5x? + 10k leaves remainder —2x
when divided by x? + 2 then value of k is:

(A) 1

(B) —1

(©) -2

(D) 2

174.if x +%= a , then what is the value of
x3 +x? +x]—3+;12— is:

(A) a® + a?

(B) a® +a* —5a

(©a*+a?*-3a-2

(D)a® +a*—4a -2

175.1f h, S,V be the height, curved surface area
and volume of a cone respectively,
then (3nVh® — S2h? + 9V?) is equal to

(A) 2

(B) 0

(C) 2m

(D) 372

(27)

h—-——e—_f—_"‘_—gf’}fa |

171, @ % - V27 + V0.008 + V0.064
(A) 3.6
(B) 36
(C) 360
(D) 0.36

172. ur ftfore b wek Ffarer ofer 2 ot # 10 wfd ad
GTIRYT ST o) & @ AT WA el suT ol R% R
(A)r<R
(B)R<r
(C)r=R
(D) I &t feram s wewe

173.9% x3 4+ 5x%2 + 10k #1x%2 + 2 aymR
WATHA —2X AArEa k T aE E:

A1
®B) —1
€) -2
(D) 2
AR x+iza d B Ea2 S+
; x pe X

FHEE:
A a® + a?
®)a® +a?-5a
©a®+a*—-3a-2
oma:+a?—-4a-2

175.9f8 h, S,V e 397, 95698 S96 IR TR
uwvigwa (3nVA3 — S2h? 4+ 9V?) wam
2

(a) 2

B) 0

(C) 21

(D) 3m?
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INTELLIGENCE

Directions : Find out how will the key figure (X)
look like after rotation.

6P| EB|EF |

176. 00 ay @ 3 @
(A)1
(B) 2
(€) 3
(D) 4

3> e AR

177. ) 13y 2 3 @
(A)1
(B) 2
€3
(D) 4

Directions : Select a suitable figure from the
Answer Figures that would replace the question
mark (?).

Frdor - v wt o gmm 3 ame st et (X) S

et
£ (7|68 |67

176. ®@ @ @ W

P AEV|<E

{1y (23 &) &

177.

et : TeR Rt & & 39 IUg ATHT HT ATA W
Tt WS g (2) I EN

178.

Problem Figures:

Answer Figures:

178.  gaE fom

I o

(B -7 [¢[~A~#

(A) (B) (C) (D)

£1> |~ ?

[ e i U

1 @ 3@

(A) (B) (C) (D)

(1) (2) B)

(4)

179. Problem Figures: Answer Figures:
P e ?] v da
(A) B) (C) D) (1) (2 B)@
(A) 1
(B) 2
3
(D)4

Directions : Find out the alternative figure which
contains figure (X) as its part.

ARG

% ;

(]
X) m @ @ @
(A) 1
(B) 2
€3
(D) 4

A BANA

ol | B

(X) M @ @ @

(28)

179. awen fo: e fom:

A O @J" @DD@}CDF
B) (C) (1) (2) 3) ()

(A)
(A) 1
(8) 2
(€3
(D)4

fadr : 7z Fwfeues snerfar e g et o
X) AT HFETHEN

A /\\m

X)) mn @ ©@ @4

181.
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- ——————— ]

Directions : Select a figure from amongst the firior: T enfaal f & 30 ST w1 wT B
Answer Figures which will continue the same ater e et gro eaTfi ST Y ST T
series as established by the five Problem Figures.

182. It e

182. Problem Figures: Answer Figures: s oG
‘ { iV} f"}k"{'m’l,xea\f\c\{“;l i t !Vi - Y &N
) (B) (C) (D) (E) (1) (2) (3)(4) (A) (B) (C) (D) (B) (1) (2 B)4)

(A) 1 ig; ;
(B) 2 © 3
(C) 3 (D) 4
(D) 4 '

183. Problem Figures: Answer Figures: 183. *A + mjf‘j AR
IR ek L.»L_l L=k
™ ®) © D) E ()@ E@ ok Ml il @ ere
(A)

o2
(3 (D) 4
(D) 4

184. Problem Figures: Answer Figures: R ‘q:;ﬂzo.@@ & 3?@

R P o e R ‘
W ® © 06 0@ 6@ B R
(A) 1 (B) D
(B) 2 3
(€3 (D) 4
(D) 4 )
185. v it R st () & R e zRel A A -
185. Find out which of the figures (1), (2), (3) IR (1), (2), (3) 3R (4) TS 5 wA B
and (4) can be formed from the pieces given 9?
in figure (X). %} X SR K
. g XX @ E@
X7 sl 0 (11 @ 3 @
b‘% XIX E@ (A) 1
00 1 @ () @ (B) 2
(A) 1 c)3
(8) 2 A4
(€) 3
(D)4
186, fee, arsrer ot ool 1 areredT it st Wi 1 T
186. Heena is the daughter of Ajay. Mala, who is Erakitii ﬁ(qm%’&gﬁﬁw%g e gefer i drdt
Achala’s sister has a son Romi and a daughter S oo Sy A B T 0T S SRR WIS B EA

Sushila. Kam|-a is matem‘a‘i aunt _of Sushjia and 0 ‘mé?' " B
mother of Krishna. Romi is cousin of Krishna.

Krishna is brother of Heena. How is Achala related (A) T AT/
to Ajay ? (B) wft

(A) Cousin (C) wefrstt

(B) Sister in law (D) 58T

(C) Niece

(D) sister
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187. In a certain code language “AROUND” is
coded as 52182412144 and “EIX” is coded as
63624. How will “p ASTIC” be coded ?

(A) 1612522021363
(B) 1612261920183
@) 1812521920383
(D) 1612521920363

188. If MACHINE is coded as 19-7-9-14-15-20-11
then DANGER will be coded as -
(A) 11-7-20-16-11-24
(8) 13-7-20-9-11-25
{C) 10-7-20-13-11-24
(D) 13-7-10-11-2

189. Ananya started froma point in some
direction. After walking for some time, she turned
to her right and continued walking. Now walking
for some distance she turned to her left and after
this finally to her right. If now she is walking in
west direction, in which direction did she start her
journey.

(A) North
(B} West
{C) East

{D) South

Directions for (. 190 to Q 193 - Answer the
questions based on the below statements.
in a family of 6 people, ail the people are of
different professions. There are two married
couples in the family.
%The 6 people in the family are A BCDE&F
% There professions are lawyer, teacher,
salesman, doctor, engineer & accountant but
not in same order.
» The salesman, D is married to the teacher.
» Doctor & lawyer are married couple.
» Teacher is female and A’s daughter in law is
lawvyer.
5 F is the son of B and brother of E and is
accountant by profession.
% E is an engineer and is unmarried.
% C is the daughter in law of A.
% A is the grandmother of F.

190. What is the profession of the person married
toC?
(A} Doctor
{B) Salesman
(C) Teacher
(D) Engineer

191. How isE related to A P
{A) E is the grandson of A.
(B) Eisthe granddaughter of A.
{C) Eisthesonof A.
{D) Cannot be determined.

(30)

187,®ﬁf\aﬁmmﬁ“AROUND"H% 52182412144 3R
“FIX” F 63624 F w9 F wifea foma ST 21 “PLASTIC”
= ¥ Fifea e smom ?
(A) 1612522021363
(B) 1612261920183
(C) 1812521920383
(D) 1612521920363

1889 MACHINE I 19-7-9-14-15-20-11 ¥F wu ¥ Aifea
‘@smm%,aﬁmmma%%awﬁ%aﬁm
STET?

(A) 11-7-20-16-11-24
(B) 13-7-20-9-11-25
(C) 10-7-20-13-11-24
(D) 13-7-10-11-25

xs9.mwﬁmﬁwﬁgﬁ§mm%\§®%{améa
e, A R e St o wrerd W o F I
e % T R A A ) S g A of # g At
gﬁ@zﬁ%m-‘%ﬁwﬁmﬁaﬁ@%ﬁwﬁm
o fora e & g R o
(A) TR
(B) ufzm
© =
(D) &
s 190%9&193%@%-%&1@3@%
T T AT IR
¢ et 35 e 3wt T SFeT- ST O % 8
e 3 A franfea g €1
ofeme# 6 AT A, B, C, D, E ¥ &
oot e s
Fewia, D o Rrew A g R
et i T T e
fareer Wi & 3 A Y 5§ 3 2
F, BH T oM EF R S T
£ v St @ ot sferanfea 21
C,AFFER
A, P EE R

190.C & Frarfee safes i G a1 2 2
(A) THKX
(B) Tewh
(C) Tore®
(D) ST
191.E, A & forg e deifera 8 2
(A) E, A TR
(B) E, AR O 2.
(C) B, AT TR
(D) Pt & e ST what 2l
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192, Which of the statement is correct ?
(A) Bis a doctor.
(B) Cis mother of F.
{C) Dis male.
{D) All above statements are correct.

193. What is the profession of A ?
{A) Teacher
(B) Doctor
(C) Salesman
(D) Lawyer

Directions : Select the missing number.
194. 5,12,36,123,7?, 2555 , 15342
{A) 508
(B) 381
(C) 504
(D) 635

195. 0,2,?,12,20,30
(A) 4
(B) 6
(€ 8
(D) 10

Directions: Select the related word.
196.  Delicious : Taste :: Melody : ?
{A) Voice
(B) Highness
(C) Tongue
(D) Memory

197.  Income : Profit :: Expenditure : ?
(A) Loss
(B) Surplus
{C) Balance
(D) Sale

198.  PAW : CAT :: HOOF : ?
(A) LAMB
(B) HORSE
(C) ELEPHANT
(D) TIGER

199. If P is taller than Q; R is shorter than P; Sis taller
than T but shorter than Q. Then who among them is
the tallest ?

(A} P
{(8) Q
(€ s
o T

200.  There are 25 boys in a horizontal row. Rahul was
shifted by three places towards his right side and he
occupies the middle portion in the row. What was
his original position from the left end of the row ?

(A) 15%
(8) 16"
(c) 10"
(D) 12t

(31)

192 F G FT el 2 9
(A) B U EfFe
(B) C, F ¥ amar &
(€) DT
(D) 3ures ot o Tt 8

193, AFIAs a8 9
(A) eaTH
(B) X
(C) Gl
(D) I
Rl g dem s aaa @t
194.5,12,36, 123,92, 2555 , 15342
(A) 508
(B) 381
(C) 504
(D) 635

195.0,2,?.12,20,30
(A) 4
(B) 6
(C) 8
(D) 10
Fder: waifire vree e ot
196. Delicious : Taste :: Melody : ?
(A) Voice
(B) Highness
(€) Tongue
(D) Memory
197. Income : Profit :: Expenditure : 7
(A) Loss
(B) Surplus
{C) Balance
(D) Sale
198. PAW : CAT :: HOOF ; ?
(A) LAMB
(B) HORSE
(C) ELEPHANT
(D) TIGER

199. 9/ P, QA &= &; R, P A BT 2: S, TAsmn e s Q
BT 81 A 9 A e T I 20
(A) P
(B) Q
© s
D) T
200. 7 &ferst 9ftw 3 25 TeH #1 Tger sk afeeh siwd
TITHT & vt 6 R mrar st e 9Re & wer v g o
TR R % S B & Saehl et Rufer ot
A) 15"
B) 6
©) 10"
D) 12"
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